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[BDE] 1G 2G 3G 4G g BRI
HEERMIO 258| 192 228 169| 847
LLIAETT 199| 225| 280| 222| 926
FEEth IO 202| 249 193] 246| 890
BFITO0FI= 887.7 | 8%
WwAIEZETO 208| 194| 182 214| 798
INREFEETT 190| 180| 214| 213 797
ABRAEFIO 212| 187 162| 173 734
TF IO R 776.3 | 33%

(R DER] 1G 2G 3G 4G 5 BEFE
=Y N 194/ 209| 188| 236| 827
LLIAZNTO 269| 201| 224 205| 899
S IO 262| 206| 237| 249 954
BFTO0FI= 893.3| 1%
AT =IO 185 248 168| 205 806
INREFSEZETO 183| 162| 269| 184 798
ABAEFIO 175 167 170| 191 703
TFITOFT = 769.0 | 20%
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